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Page 30. Original text:

E[X;§|]:kf1] = Va?"[AXk|fk71] + (Sk—l + E[AXk‘fkfl])z (1)

and use the following estimate from (3.52)

X1 < csrE[AXE|Fi] (2)
and (3.57)
E[AX%LF;C,l] < VaT[AXkafﬂ(l + CN[VT(O)). (3)
Corrected text:
E[S;afk_ﬂ = VaT[ASk|.7:k_1] + (Sk—l + E[A8k|fk_1])2 (4)

and use the following estimate from (3.52)
Si-1 < csrEIASE| Fii] (5)

and (3.57)
E[AS?Fr_1] < Var[ASk|Fe_1](1 + caryr(0)). (6)

Page 31. Original text:

(1 - 5)VUJT[AS]€|]:]€,1] Z E[AS]%} - E[AS;C|}';€,1]2 - (SVCLT[ASH]:]C,J

(7)
> Var[ASk|Fr-1](1 + eprvr(0)) — E[ASk|}"k_1]2 — 0Var[ASg| Fr—1].
Corrected text:
(1 = 0)Var[ASg|Fi-1] > E[ASEFr—1] — E[ASk|Fr—1]* — 6Var[ASk|F—1] ®)
> Var[ASy| Fr-1](1 + carvr(0)) — E[ASk|Fr—1]* — 6V ar[ASy| Fr—1]-
Page 34. Original text:
The Cauchy-Schwarz inequality and Proposition 5 imply that
Var|We|F-1]
E[(X;ASy)?] < Bl T E[ASH Fi—
(i AS1)?] < Bl e bkt PIASHF ]
1 Var[AS?| Fi_1]
> —E[E[(WE)| Fj_y]| —— k= 9
e BV 1Pl Var[ASk|Fr—1] ®)
1
> E(l + envr(0) B[(W)?) < o0
Corrected text:
The Cauchy-Schwarz inequality and Proposition 3 imply that
Var[We|Fr-1]
E[(X;ASk)?) € Blo— A2~ F[AS?Fi_
(X A50)°] < Blgzt g FIAS i)
1 VCLT[ASQ‘]:kfﬂ
< ZE[E[(WE)? Fr_ ] o 2L (10)
= [ [( k) | k I]VCLT[ASH]:k_ﬂ

< 21+ arvr(O)EIWEP) < o0

Page 35. Original text: We have already showed that V?(p) = V() in the previous paragraphs and
so by (136)... B

Corrected text: We have already showed that V?(¢) = V() in the previous paragraphs and so by
(3.83)...



